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Part: A

1: What is NOT a recommendation when designing an archiving project?

A.archive business objects in their complete context

B.archive data through its full lifecycle

C.plan on retaining the archived data indefinitely

D.involve stakeholders to align business and legal requirements with the technology

Correct Answers: C

2: Which statement is true about installing Optim on a single file server?

A.This installation provides easier administration when installing and upgrading.
B.This installation does not affect performance.

C.Users are unaffected by upgrades made to the file server.

D.Old images are not in use while installing, configuring, or upgrading the software.

Correct Answers: A

3: Which action does NOT require a primary key?
A.deleting data

B.defining Optim relationships

C.visiting a table more than once in a process
D.enabling the Point and Shoot feature for a Start Table
Correct Answers: B

4: Which statement is true about Optim relationships?

A.Primary keys are required.

B.Foreign keys are required.

C.Corresponding columns must have identical data types and attributes.

D.At least one column in a corresponding pair must be specified by column name.

Correct Answers: D

5: What is NOT a function of Compare?
A.comparing two extract files
B.comparing an extract file with a table
C.creating reports

D.analyzing a data model

Correct Answers: D

6: What is NOT a capability of the Table Editor?

A_join several tables

B.overtype data in any column

C.undo changes made to Large Object (LOB) data

D.associate a LOB column with an application required to view it

Correct Answers: C



7: Which is NOT an Optim masking technique?
A.encryption

B.date aging

C.replacing data with literals

D.expressions

Correct Answers: A

8: When would decommissioning a legacy application NOT make good business sense?
A.when its costs are greater than its business value

B.when its business value is greater than its cost

C.when its business value and cost are approximately equal

D.when it is being consolidated into a purchased ERP application

Correct Answers: B

9: Which statement is true about the Restore Process?

A.Data must be loaded into a staging database before being restored to the original database.
B.Data cannot be restored to the original database if the data model has changed.

C.Data can only be restored from one Archive File per process.

D.The Insert Process is one method used to restore data.

Correct Answers: D

10: Which product is used to implement Optim Open Data Manager (ODM)?
A Attunity Connect

B.Optim Directories

C.Export/Import Utility

D.MySQL

Correct Answers: A

11: Which statement is FALSE?

A.If data are refetched, you cannot undo changes to the previous fetch set.

B.Changes are committed to the database when the pointer is moved to a different row.
C.Undo?removes all changes made to the current row in the fetch set.

D.Undo removes the last change made to the row in the current fetch set.

Correct Answers: C

12: Which method of assessing archived data provides the most flexibility?
Alocal

B.native

C.application-based

D.application-independent

Correct Answers: D

13: Which process is NOT part of the Move component?
A Extract



B.Restore
C.Insert
D.Load

Correct Answers: B

14: How does Compare determine that pairs of tables contain corresponding rows?
A.Column Map

B.Match Key

C.Table Map

D.Start Table

Correct Answers: B

15: What is NOT a function of the Browse Utility?

A.to view related data by joining tables

B.to inspect archived data before making deletions

C.to define the tables and selection criteria for an Access Definition
D.to determine if an Archive File is appropriate for the Restore Process

Correct Answers: C



